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PART A: Vocabulary

| Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes
\_ the sentence. Then mark the correct choice on your answer sheet.

==

 ———— = r= —— =

1- What is the formula for -----——-—- pounds into kilos?
1) compiling 2) converting 3) associating 4) assembling
2- The government tried 10 —-—-e--- the book because of the information it contained about the
security services.
1) pursue 2) sanction 3) suppress 4) undertake
3- The study - -- to show an increase in the incidence of breast cancer.
|) purports 2} contends 3} sustains 4) implements
4- The research indicates that 4 out of 10 passengers -----—--- the law by not wearing their belts.
1) flout 2) submit 3) revenge 4) eliminate
S5- You must be able to make all —-==----- plans in the event of enemy attacks.
1) restraint 2) anticipation 3) consequence 4) contingency
6- In the eyes of the law, these two offences are -== gach other.
1) on the verge of 2) on a par with 3).in view of 4) in the course of
7- In a number of developing countries, war has been an additional —----- to progress.
1) mediation 2) supplement 3) impediment 4) retardation
8- The company is reported to have ——-—-- of nearly § 90,000,
1) ledgers 2) equations 3) insertions 4} liabilities
9- The ---—-— effect of using so many harmful.chemieals on the land could be considerable.
1) distorted 2) cumulative 3) diminishing 4) compensatory
10- They have saved up a lot of money,so they can ——--——-- afford to buy a bigger apartment.

11-
12-
13-
14-
13-

| PART B: Grammar
Directions: Read the following passage and decide which choice (1), (2), (3), or (4)

1) equivocally 2) accessibly 3) analogously 4) presumably

best fits each blank. Then mark the correct choice on your answer sheet.

e

The body needs :many different nutrients. These are various substances (11) ---------- provide
energy and the materials for growth, body-building, and body maintenance. Every day millions of
cells in the body die and must be replaced by new ones.

(12) -=emeemee foods contain all nutrients. So it is not just the quantity of food eaten that is
important, but alse the variety. People who have enough (13) --=emvee- to them may still become ill
because they are eating too'much of one kind of food and not enough (14) ==vemem- :

Tostay, healthy, we need to eat a balanced diet. This means a diet containing the right

proportions of the main nutrients. Many foods (15) -------——-- of these basic nutrients. A balanced
diet also containg enough energy (in the form of food) to power the chemical reactions of living

1} necessary to 2) of necessity so as 3) to be necessary to  4) being necessity so as
1) Not all 2) Mot each 3) Neither do all 4) Neither each

1) available food 2) food available 3) availability food 4} food availability

1) others 2) another 3) of another 4) of other

1) have mixture 2) have mixing 3) are a mixture 4) are mixing
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[PART C: Reading Comprehension

| Directions: Read the following three passages and choose the best choice (1), (2), (3),

(4). Then mark it on your answer sheet.

16-

17-

18-

19-

Hydrology has been a subject of investigation and engineering for millennias For example, in
about 4000 B.C. the Nile was dammed to improve agricultural productivity of previously barren
lands. Mesopotamian towns were protected from flooding with high earthen walls. Aqueducts
were built by the Greeks and Ancient Romans, while the history of China shows they built
irrigation and flood control works. The ancient Sinhalese vsed hydrology to build complex
irrigation works in Sri Lanka, also known for invention of the Valve Pit which allowed
construction of large reservoirs, anicuts and canals which still function. _Mmi:.us Vitruvius, in the
first century B.C., described a philosophical theory of the hydrologie eycle, in which precipitation
falling in the mountains infiltrated the earth's surface and led to stréams and springs in the
lowlands. With adoption of a more scientific approach, Leonardo da Vinei and Bernard Palissy
independently reached an accurate representation of the hydrologic cycle. It was not until the 17th
century that hydrologic variables began to be quantified. Pioneers of the modemn science of
hydrology include Perrault, Mariotte and Halley. By measuring rainfall, runoff, and drainage
area, Perrault showed that rainfall was sufficient to account for flow of the Seine. Marriotte
combined velocity and river cross-section measurements to obtain discharge, again in the Seine.
Halley showed that the evaporation from the M:d]tﬁﬁm Sea was sufficient to account for the
outflow of rivers flowing into the ‘sea. Advances in the 18th centurv included the Eemnull:
piezometer and Bernoulli's equation, by Daniel Bemnoulli, the Pitot tube.

It is stated in the passage that -———--——-

1) the Vale Pit was first developed in Sri Lanka

2) Mesopotamian towns protected earthen walls

3) hydrology’s subject is the investigation of engineering

4) the Nile agriculture around 4000 BC depended on dams

The passage points tothe fact that -————,

1) the earth’s surface in the lowlands is subject to erosion

2} the hydrologie eycle was a major part of Greek philosophy

3) Palissy was nol the first person who studied the hydrologic cycle

4) Romans and Greeks worked together to construct aqueducts
‘We understand from the passage that ————-——-- .

1) ariver's discharge amount is a cross-section of its velocity

2) da Vinci was not able:to quantify hydrologic variables

3) Mariotte and Halley worked independently from each other

4) the Seine had an unusually high amount of drainage area

The passage mentions that —-—-——-—-

1) Bernoulli piezometer and the Pitot tube were very popular instruments
2) the Seine received the highest rainfall of any major European capital
3) the Seine was a major study area for the first modern hydrologists

4) evaporation from the Mediterranean Sea equaled the flow of the Seine
The word “barren” in the passage (underlined) is closest to - "
1) “dry’ 2) ‘open’ 3) ‘fertile’ 4) ‘humid’
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Many scientists have debated how to make agriculture farming sustainable. One of the many
practices includes gmwmg a diverse number of perennial crops in'a single field, each of
which would. grow. in separate season so.&s not to compete with each other for natural
resources. This system would result in increased resistance to diseases and deereased effects
of erosion and loss of nutrients in soil. Nitrogen fixation from legumes, for example, used in
conjunction with plants that rely on nitrate from soil for growth, helps to allow the land to be
reused annually. Legumes will grow for a season and replenish the seil with ammenium and
nitrate, and the next season other plants can be seeded and grown in the ficld in preparation
for harvest. In practice, there is no single approach to sustainable agriculture, as the precise
goals and methods must be adapted to each individual case, There may be some techniques of
farming that are inherently in conflict with the concept of sustainability, but there is
widespread misunderstanding on impacts of some practices. For example, the slash-and-burn
techniques that are the characteristic feature of shifting cultivators are often cited as
inherently destructive, yet slash-and-burn cultivation has been practiced in the Amazon for at
least 6000 years; serious deforestation did not begin until the 1970s, largely as the result of
Brazilian government programs and policies. To note that it may not have been slash-and-
burn so much as slash-and-char, which with the addition of organic matter produces terra
preta, one of the richest soils on Earth and the only one that regenerates itself.

21- It is stated in the passage that perennial crops

1) are usually grown in a single field 2) do not all grow in the same season

3} depend on each other for resources 4) should not compete with each other
12- We understand from the passage that .

1) erosion follows loss of nutrients in soil 2) resistance to diseases decreases erosion

3) terra petra is the product of slash-and-char 4) slash-and-char is a harmful forestry practice
23- The passage mentions that ———-——eeeeee -

1) ammonium and nitrate help seeds grow faster

2) ammonium is a by-product of legumes® growth

3) some plants are resistant to the uptake of nitrate

4) cultivation in the Amazon is about 6000 years old
24- The passage is most probably taken from a longer text on sustainable farming ------------- .

1) in the Amazon 2) and its methods

3) for the preservation of soil 4) and the importance of perennial crops
25- The word ‘inherently’ in the passage (underlined) is closest t0 ————- -—

1) “basically’ 2) ‘extemally’ 3) ‘regularly’ 4) *strongly’



26-

27-

28-

29-

T (TS peasd Gl

Orographic precipitation occurs on the windward side of mountains and is caused by the
rising air motion of a large-scale flow of moist air acréss the mountain ridge, resulting in
adiabatic cooling and condensation. In mountainous parts of the world subjected to relatively
consistent winds (for example, the trade winds), a more moist climate usually prevails on the
windward side of a mountain than on the leeward (downwind) side. Moisture is removed by
orographic lift, leaving drier air on the descending (generally warming) leeward side where a
rain shadow is observed. Orographic precipitation is well known on oceanic islands, such as
the Hawaiian Islands, where much of the rainfall received on an island is on the windward
side, and the leeward side tends to be quite dry, almost desert-like, by comparison. This
phenomenon results in substantial local gradients of average rainfall, with coastal areas
receiving on the order of 500 to 750 mm per year, and interior uplands receiving over 2.5 m
per year. Leeward coastal areas are especially dry, and the tops of moderately high uplands
are especially wet — ~12 m per year. In South America, the Andes mountain range blocks
most of the Atlantic moisture that arrives in that continent, resulting in a desert-like climate
on the Pacific coast of Peru and northern Chile, since the cold Humboldt Current ensures that
the air off the Pacific is dry as well. On the leeward side of the Andes is the Atacama Desert
of Chile. It is also blocked from moisture by mountains to its west as well. The Sierra Nevada
range creates the same effect in North America forming the Great Basin desert, Mojave
Desert and Sonoran Desert.

It is stated in the passage that ——-——-—, :
1 a mountain’s leeward side is drier than itsswindward side
2) moist air flows rise as they move across a mountain ridge
3) adiabatic cooling doesn’t occur on a mountain’s leeward side
4) consistent winds in mountainous areasare called trade winds
The passage mentions that -—————.
1) there are deserts on the leeward side of islands
2) precipitation in Hawaiian islands is not uneyen
3) the Pacific coast of Northern Chileis very dry
4) orographic precipitation.does not happen in cities -
The passage points to the fact that there are certain similarities between the -—-—--- -
|) Pacific and the Atlantic coast 2) Atacama desert and the Andes 1
3) Andes's leeward.and windward side 4) Sierra Nevada and the Andes mountain
The passage is mainly about ——-—-—-- . _—
1) windward rain currents 2) importance of precipitation |
3) orographie precipitation 4) precipitation in Hawaii, Peru and Chile

30- The word ‘prevail® in the passage (underlined) is best related to =-wee-eeee-ev

1) ‘flow® 2) “escape’ 3) ‘location’ 4} *victory’
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